
510 171 455 607

× 5 × 7 × 9 × 3

0 7 45 21

+ 50 + 490 + 450 + 0

+ 2500 + 700 + 3600 + 1800

= 2550 = 1197 = 4095 = 1821

487 750 206 164

× 6 × 4 × 5 × 7

42 0 30 28

+ 480 + 200 + 0 + 420

+ 2400 + 2800 + 1000 + 700

= 2922 = 3000 = 1030 = 1148

362 842 176 922

× 9 × 3 × 8 × 6

18 6 48 12

+ 540 + 120 + 560 + 120

+ 2700 + 2400 + 800 + 5400

= 3258 = 2526 = 1408 = 5532

306 468 614 562

× 8 × 2 × 7 × 9

48 16 28 18

+ 0 + 120 + 70 + 540

+ 2400 + 800 + 4200 + 4500

= 2448 = 936 = 4298 = 5058

935 272 662 760

× 7 × 3 × 9 × 4

35 6 18 0

+ 210 + 210 + 540 + 240

+ 6300 + 600 + 5400 + 2800

= 6545 = 816 = 5958 = 3040

 long multiplication
3-DIGIT BY 1-DIGIT(without regrouping) 

WORKSHEET - 10

MATH - DAD.COM

ANSWER
KEY


